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SSC CHSL 2021 English Language Questions from Shift 1
« Find one word for:

Study of maps: Cartography

« Find the  antonym of Stretch

Ans. Expand

- Find the Synonym of - Emerge

- Both incorrect and correct spellings were asked - auspicious, endeavour

- Find the Synonym of - Isolated

- Error Spotting - related to “subject-verb agreement”.

- Error Spotting - related to “neither...nor”.

+ Cloze test - Vocab + grammar - Based on life

- Voice - past indefinite tense.

+ Narration - Assertive sentence.

+ Find the one word for - The action of looking back on or reviewing past events or
situations, especially those in one's own life.

Ans: Retrospection

« Fill in the blanks - Phrasal verbs (of ‘give’)

« Fill in the blanks: She made an __ to win a gold medal. (options - attempt,
exercise, etc. )

+ Idioms - Speak volumes

Ans. (of a gesture, circumstance, etc.) convey a great deal without using words.

SSC CHSL 2021 English Language Questions from Shift 2

+« One word - a place where coins are  made

Ans: mint

« Synonym - innocuous

- Spelling mistake - Maintenance

- Fill in the blanks - Vocabulary based

« Cloze- Story-based - On a school function, principal’s encouragement through speech
« Synonym/ Antonym- opulent

« Synonym/ Antonym - Severe



« Synonym/ Antonym - alteration

« Synonym/ Antonym - Disclose

- Error spotting - related to preposition

« Voice- Past indefinite tense- assertive sentence
« Narration - Assertive sentence

SSC CHSL 2021 English Language Questions from Shift 3
- Reckless (Synonym)

« Intrepid (Antonym)

 Cloze Test (Tourist based theme)

- Sentence Improvement (Verb based)

« Spotting Error (Adjective based)

« Agnostic, Gullible (One-word Substitution)

« Synonym/ Antonym - Awkward



